REBIRZIFER
ﬁfﬁ%R? O SIeFE483EHNIE
2 FEXPRI FEEER
% FEFREDB TERRE
c= = T - O/mB = T - O/R
5
s |2 =
56 05 25 54
N A d o & o o
06 20 35 57 13 45 14 25 38 50 04 36
N o h o o
12 22 35 57 17 45 21 441 07 39
S o o d o & o
07 22 39 57 17 45 05 30 36
10 & & &
11 35 17 45 19 40
112 e &
12 57 14 35 30
12| 57 y
35 15 03 35
13 ux) un) ms)
19 51 45 30 o8
th
14115 47 35 05 44
15115 47 10 55 20
N I P b
15 47 15 38 53 00
o o
17115 31 47 01 24 55 16 40
18 & & b
03 19 35 14 30 45 19 55
o o
19107 39 05 30 52 46
201 1 4 15 35
21 26 58
22
T TETRNICER
89138H1'51583BRY (1 PICTEST
128298hH'51838I38HRAY 1 PICTGET
@ (IRFRBICRANTE=L)Y,

—ﬂxﬂﬁfﬁ/\zra CPJ%J:D?EL/ EJEJ:V)B&EL/—C<7-3M B“ECDB""Z

1 043(300)3611



